1) REM BANKRSX
20 REM by D.Holmes
30 MEMORY &3FFF
40 addr=&8000
50 FOR lin=0 TO 35
60 READ byte$, checksum
70 check=0
80 FOR n=1 TO 15 3TEP 2
90 byte=VAL("&"+MIDS(bytes n, 2))
100 check=check+byte
110 POKE addr, byte:addr=addr+l
120 MEXT
130 IF checksunCrcheck THEN PRINT
"grror in line" ,1000410%1in:STCP
140 NEXT
150 CALL &B000
160 PRINT"BANK RSX's SET OP"
170 EMD
1000 DATA 0109802125%B0C3D1, 744
1010 DATA BCZDBOCIGBBOCITE, 1107
1020 DATA BOC3AS80C3BEBOC3, 1316
1030 DATA 9980C3BCBOC3CZEQ, 13009
1040 DATA C3CBBOCID1BOC3DA, 1468
1050 DATA EQ00000C005€4345, 356
1060 DATA E742414ECB434F50, 725
1070 DATA 595343524545CE47, 736
1080 DATA 455442414ECB5055, T30
1090 DATA S442414ECBA34FS0, 722
1100 DATA 594B4947CB5343C8, 855
1110 DATA 5343CC5752C85752, 892
1120 DATh CC5T4950C500FEQL, 856
1130 DATAR CIDESOCDSDBOCDCZ, 1417
1140 DATA S8OCDASBS0CDOSB0CD, 1317
1150 DATA BCBOCDREBDCSFEOL, 1287
1160 DATA CZDESOCDASB0CDAD, 1388
1170 DATA B0CDEGBOCISZIFFEF, 1387
1180 DATA 11FF7F010040EDBE, BES
1190 DATA C92100401100C001, 508
1200 DATA 0040EDBOCSDDTEDQ, 1025
1210 DATA FEO4DADEBOFEQSDZ, 1288
1220 DATA DEBOCDSBEDCI3EDO, 1098
1230 DATA CDSBEDCOZECOCDO8, 1153
1240 DATAR BCCOZE4A0CDDEBCCY, 1117
1250 DATR 3ECO210000CDESBD, 766
1260 DCATA C93E40210000CD55, 650
1270 DATA BDCSCD14BCCOCDEE, 13891
1280 DATA 30CDOEBCCDOBBCZL, 966
1290 DATA 008106197ECDSABB, 768
1300 DATA 2310FS3E07CDSABB, 851
1310 DATA 3E42CDIEBB2BF4CS, 1035
1320 DATA 504152414D455445, 5391
1330 DATA 52204552524F522D, 553
1340 DATA 5052455353204553, 581
1350 DATAR 4300000000000000, &7



